Unemployed Irish turn to low-paid 'immigrant jobs'

Define the following terms indicated in bold in the text
i) ‘unemployment rate’






2 marks
Level

0 Wrong definition

1 Vague definition

The idea that unemployment rate refers to the percentage of people without a job.

2 Precise definition

An explanation that the unemployment rate is the number of people who are unemployed expressed as a percentage of the total labour force (not the whole population).
ii) ‘structural unemployment’
Level

0 Wrong definition

1 Vague definition

The idea that changes in the economy of a country cause unemployment.

2 Precise definition

Explanation that structural unemployment refers to a permanent fall in the demand for a particular type of labour. A good example might help clarify this explanation. [Note – the quote in the article claims that a loss of construction jobs is structural. However, this is not likely to be the case, and it is more likely to be cyclical – this point need not be made in an answer here.]
(b) Using an appropriate diagram, explain how the presence of a minimum wage may be contributing to Ireland’s current unemployment figures (4 marks) 
Level

0 Inappropriate answer

1 Identification of appropriate theory

For drawing a demand/supply diagram indicating a surplus in supply of labour when a minimum wage is set above a lower market equilibrium price of labour or providing an explanation of how a minimum wage invites a surplus of labour which may therefore be interpreted as unemployment.
2 Correct application of theory
For drawing a demand/supply diagram indicating a surplus in supply of labour when a minimum wage is set above a lower market equilibrium price of labour and providing an accurate explanation of how a minimum wage invites a surplus of labour which may therefore be interpreted as unemployment. Accurate explanation should include reference to the diagram.
(c) Using evidence from the text, explain how occupational immobility may be contributing to Ireland’s current unemployment figures

  


(4 marks)

Level

0 Inappropriate answer

1 Identification of appropriate theory

Vague description of the fact that some workers who have lost their job in one type of employment are not transferring to other, available types of employment.
2 Correct application of theory

Precise description of how former workers in the construction industry lack the necessary skills to work in newly created jobs at equivalent levels of pay and so remain unemployed. Exemplification of the kinds of skills needed in both the construction industry and an alternative could help, along with suggestions of why workers are unable to transfer their skills. Higher scoring candidates could link this phenomenon to structural unemployment. Reference could be made to inefficiency in terms of resource allocation.

(d) Using information from the text and your own knowledge, evaluate the policy options available to the Irish government in reducing the current unemployment rate of 5.1%.











(8 marks)

Responses may include:

To solve real-wage (or classical unemployment): removal of government mimimum wage.

Could discuss the impact this would have on unemployment rate, employers and employees. Different types of employees might be referred to – lowest wage versus high wage workers.

Solutions to structural unemployment could be explored as this is referred to in the article:

a) Interventionist Policies

· Spending on adult training programmes to overcome occupational immobility

· Subsidise firms that provide training for their workers

· Governments can support apprenticeship programmes

· Longer term solution – improved education system that trains people to be occupationally flexible

· Reference to the high opportunity costs of the above strategies.

· Observation that such strategies are really only effective in longer term.

b) Market-oriented Policies

· Reduce unemployment benefits (which help reduce frictional unemployment) – more incentive to take available jobs

· Deregulate labour markets – e.g. reduce regulations about hiring and firing – otherwise firms become reluctant to take on workers.

· Discussion on how the above policies affect different groups – those on unemployment benefits and workers vulnerable to unfair treatment.

Note – the quote in the article claims that a loss of construction jobs is structural. However, this is not likely to be the case, and it is more likely to be cyclical …

Although not explicitly stated by the article, much of this unemployment must be cyclical unemployment  (Ireland’s economic gloom suggests a recession). So discussion could explore fiscal or monetary policies to increase aggregate demand.

The impact of fiscal or monetary policies on the government’s key economic aims could be explored, as could the difference between short and long run impact and affects on different stakeholders.

Some reference could also be made to solutions to frictional and seasonal unemployment but note that the article seems to refer to a sustained upwards trend in unemployment figures.

Further evaluation could be achieved by prioritising the solutions according to, for example, the candidate’s arguments as to which types of unemployment are likely to be most significant. 
Reward responses that evaluate the effectiveness of the policy options. An awareness of how some causes are likely to be more significant than others should be credited.
Examiners should be aware that candidates may take a different approach which if appropriate should be fully rewarded.  If there is no direct reference to the data, then candidates may not be rewarded beyond Level 2.
Level 

 0 
 No valid discussion. 

 1 
Few relevant concepts recognized. 

Little discussion or only basic understanding. 




1-2  
 2
Relevant concepts recognized and developed in reasonable depth. 

Some attempt at application and analysis.




3-5 

3
Relevant concepts developed in reasonable depth, demonstrating effective evaluation, supported by appropriate evidence or theory.


6-8 

